

13/10/15

Ζητούμε γραμμική εξίσωση διαφορών:

$$a_1(x)y'(x) + a_0(x)y(x) = b(x), \quad x \in I$$

$a_1, a_0, b \in C(I)$, $I \subseteq \mathbb{R}$, I διάστημα

$a_1(x) \neq 0, \quad x \in I$

$$y'(x) + \frac{a_0(x)}{a_1(x)} y(x) = \frac{b(x)}{a_1(x)}$$

(E) $y'(x) + p(x)y(x) = q(x)$, $p, q \in C(I)$

q λύση της (E) αν: y παραγωγίσιμη στο $I^{(a)}$ και ικανοποιεί την (E)

$$\rightarrow y'(x) = q(x), \quad x \in I \Rightarrow y(x) = c + \int q(x) dx$$

$$y(x) - y(x_0) = \int_{x_0}^x q(s) ds \Rightarrow y(x) = y(x_0) + \int_{x_0}^x q(s) ds$$

$$\rightarrow y'(x) = -p(x)y(x) \Rightarrow \frac{y'(x)}{y(x)} = -p(x)$$

$$\int_{x_0}^x \frac{y'(s)}{y(s)} ds = - \int_{x_0}^x p(s) ds \Rightarrow \ln|y(x)| - \ln|y(x_0)| = - \int_{x_0}^x p(s) ds$$

A.14 (ii)

$$y' + y\sqrt{x} \sin x = 0, \quad x \geq 0$$

$$y'(x) = -y(x)\sqrt{x} \sin x$$

$$\frac{y'(x)}{y(x)} = -\sqrt{x} \sin x \Rightarrow \int_{x_0}^x \frac{y'(s)}{y(s)} ds = - \int_{x_0}^x \sqrt{s} \sin s ds$$

$$\Rightarrow \ln|y(x)| = \ln|y(x_0)| - \int_{x_0}^x \sqrt{s} \sin s ds$$

$$y(x) = \pm e^{\ln|y(x_0)| - \int_{x_0}^x \sqrt{s} \sin s ds}$$

A.14 (iii)

$$xy' - y = x^2 e^x \quad I = (0, +\infty) \text{ ή } I = (-\infty, 0)$$

$$\frac{xy' - y}{x^2} = e^x \Rightarrow \left(\frac{y}{x}\right)' = e^x$$

$$\Rightarrow \frac{y(x)}{x} - \frac{y(x_0)}{x_0} = \int_{x_0}^x e^s ds$$

$$\Rightarrow y(x) = \frac{x y(x_0)}{x_0} + x \int_{x_0}^x e^s ds$$

$$e^{\int p(x) dx} y'(x) + y(x) e^{\int p(x) dx} p(x) = e^{\int p(x) dx} q(x)$$

$$(y(x) e^{\int p(x) dx})' = e^{\int p(x) dx} q(x)$$

$$y(x) e^{\int p(x) dx} = c + \int e^{\int p(x) dx} q(x) dx$$

$$y(x) = e^{-\int p(x) dx} \left[c + \int e^{\int p(x) dx} q(x) dx \right]$$

He operativnu obuvipwau:

$$e^{\int_{x_0}^x p(s) ds} y'(x) + y(x) e^{\int_{x_0}^x p(s) ds} p(x) = e^{\int_{x_0}^x p(s) ds} q(x), x \in I$$

$$(y(x) e^{\int_{x_0}^x p(s) ds})' = e^{\int_{x_0}^x p(s) ds} q(x), x \in I$$

$$e^{\int_{x_0}^x p(s) ds} y(x) - e^{\int_{x_0}^{x_0} p(s) ds} y(x_0) = \int_{x_0}^x q(u) e^{\int_{x_0}^u p(s) ds} du$$

$$e^{\int_{x_0}^x p(s) ds} y(x) = y(x_0) + \int_{x_0}^x q(u) e^{\int_{x_0}^u p(s) ds} du$$

$$y(x) = e^{-\int_{x_0}^x p(s) ds} \left[y(x_0) + \int_{x_0}^x q(u) e^{\int_{x_0}^u p(s) ds} du \right]$$

Примеры 2 и 3

$$xy' - 2y = x^2, y(1) = 0, I = (0, +\infty)$$

$$y' - \frac{2}{x}y = x$$

$$\Rightarrow y(x) = e^{-\int_1^x (-\frac{2}{s}) ds} \left[y(1) + \int_1^x s e^{\int_1^s (-\frac{2}{u}) du} ds \right]$$

$$y(x) = e^{2 \ln s|_1^x} \left[0 + \int_1^x s e^{-2 \ln u|_1^s} ds \right]$$

А14 (ил) сд 56

$$y' + y = \frac{1}{1+x^2}, y(1) = 2$$

$$y(x) = e^{-\int_1^x 1 ds} \left[y(1) + \int_1^x \frac{1}{1+s^2} e^{\int_1^s 1 du} ds \right], x \in \mathbb{R}$$

$$y(x) = e^{-x+1} \left[y(1) + \int_1^x \frac{1}{1+s^2} e^{s-1} ds \right]$$

$$y(x) = e^{-x+x_0} \left[y(x_0) + \int_{x_0}^x \frac{1}{1+s^2} e^{s-x_0} ds \right] = e^{x_0} y(x_0) \cdot e^{-x} + \frac{e^{x_0} e^{-x}}{e^{x_0}} \int_{x_0}^x \frac{e^s}{1+s^2} ds$$

$\lim_{x \rightarrow 0} y(x) = ?$

Λογισμ

$$ay' + by = ke^{-\lambda x}, \quad a, b, k > 0, \quad \lambda \geq 0$$

$$\text{i) } \lambda = 0 \quad \forall \delta > 0 \quad \lim_{x \rightarrow \infty} y(x) = k/b$$

$$\text{ii) } \lambda > 0 \quad \forall \delta > 0 \quad \lim_{x \rightarrow \infty} y(x) = 0$$

$$y' + \frac{b}{a}y = \frac{k}{a}e^{-\lambda x}, \quad x \in \mathbb{R}$$

$$y(x) = e^{-\int_0^x \frac{b}{a} ds} \left[y(0) + \int_0^x \frac{k}{a} e^{-\lambda s} e^{\int_0^s \frac{b}{a} du} ds \right], \quad x \in \mathbb{R}$$

$$y(x) = e^{-\frac{b}{a}x} \left[y(0) + \frac{k}{a} \int_0^x e^{-\lambda s} e^{\frac{b}{a}s} ds \right]$$

$$y(x) = y(0) e^{-\frac{b}{a}x} + e^{-\frac{b}{a}x} \cdot \frac{k}{a} \int_0^x \begin{matrix} b/a = \lambda \\ \cdot x \\ \cdot \frac{1}{\frac{b}{a} - \lambda} (e^{(\frac{b}{a} - \lambda)s} - 1) \end{matrix}$$

$$= y(0) e^{-\frac{b}{a}x} + \frac{k}{a} e^{-\frac{b}{a}x} \cdot x \quad \text{if } \lambda = \frac{b}{a}$$

$$\text{if } \lambda \neq \frac{b}{a} \quad y(0) e^{-\frac{b}{a}x} + \frac{1}{\frac{b}{a} - \lambda} (e^{-\lambda x} - e^{-\frac{b}{a}x})$$

Λογισμ 1.43

$$y' + y = g(x) \quad \left| \quad g(x) = \begin{cases} 2, & x \in [0, 1] \\ 0, & x > 1 \end{cases} \right.$$

$$y(0) = 0$$

$$y(x) = e^{-\int_0^x 1 ds} \left[y(0) + \int_0^x g(s) e^{\int_0^s 1 du} ds \right], \quad x \geq 0$$

$$\text{i) } 0 \leq x \leq 1 : y(x) = e^{-x} \int_0^x 2e^s ds = e^{-x} 2(e^x - 1), \quad x \in [0, 1]$$
$$y(x) = 2 - 2e^{-x}, \quad x \in [0, 1]$$

$$\text{ii) } x > 1 : y(x) = e^{-x} \left[0 + \int_0^x g(s) e^{\int_0^s 1 du} ds \right]$$
$$= e^{-x} \left(\int_0^1 2e^s ds + \int_1^x 0 e^s ds \right)$$
$$= e^{-x} \int_0^1 2e^s ds = \dots$$

A-20

$$y' + by = \sin(ax), \quad a, b \neq 0, \quad b > 0$$

$\lim_{x \rightarrow \infty} y(x)$ av utvärderat

$$y(x) = e^{-\int_0^x b ds} \left[y(0) + \int_0^x \sin(as) e^{\int_0^s b du} ds \right]$$

$$= y(0) e^{-bx} + e^{-bx} \int_0^x \sin(as) e^{bs} ds, \quad x \in \mathbb{R}$$

$$= y(0) e^{-bx} + e^{-bx} \frac{1}{a^2 + b^2} (b \sin ax - a \cos ax) = M \sin(ax + \vartheta)$$

$$k \cos x + \lambda \sin x = \sqrt{k^2 + \lambda^2} \left[\frac{k}{\sqrt{k^2 + \lambda^2}} \cos x + \frac{\lambda}{\sqrt{k^2 + \lambda^2}} \sin x \right] = \sqrt{k^2 + \lambda^2} (\sin \vartheta \cos x + \cos \vartheta \sin x) \\ = \sqrt{k^2 + \lambda^2} \sin(\vartheta + x)$$

$$\sin \vartheta = \frac{k}{\sqrt{k^2 + \lambda^2}}, \quad \cos \vartheta = \frac{\lambda}{\sqrt{k^2 + \lambda^2}}$$

A-21

$$y' + py = q, \quad p, q \in C([0, \infty))$$

$$\exists x_0 \geq 0, \exists \mu > 0: p(x) \geq \mu \quad \forall x \geq x_0$$

$$\lim_{x \rightarrow \infty} q(x) = 0$$

$$\leadsto \lim_{x \rightarrow \infty} y(x) = 0$$

$$y(x) = e^{-\int_{x_0}^x p(s) ds} \left[y(x_0) + \int_{x_0}^x q(s) e^{\int_{x_0}^s p(u) du} ds \right]$$

$$y(x) = \underbrace{e^{-\int_{x_0}^x p(s) ds}}_{(A)} \cdot \underbrace{y(x_0) + \int_{x_0}^x q(s) e^{\int_{x_0}^s p(u) du} ds}_{(B)}$$

$$(A): \quad \begin{array}{l} x_0 \leq s \leq x \\ \mu \leq p(s) \end{array} \quad \Rightarrow \quad e^{-\int_{x_0}^x p(s) ds} \leq e^{-\mu(x-x_0)}$$

$$\mu(x-x_0) = \int_{x_0}^x \mu \leq \int_{x_0}^x p(s) ds$$

$$0 \leq e^{-\int_{x_0}^x p(s) ds} \leq e^{-\mu(x-x_0)} \leq e^{-\mu x} \cdot e^{\mu x_0} \xrightarrow{\downarrow} 0$$

$$(B): \quad \bullet \quad \frac{\int_{x_0}^x q(s) e^{\int_{x_0}^s p(u) du} ds}{e^{\int_{x_0}^x p(s) ds}}$$